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ECONOMICS

Paper : ECO-HE-6016

( Environmental Economics )
( Honours Elective )

Full Marks : 80

Time: 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10
o R T WRB TR Sae i -

{a) What is ecosystem?
RS g ¥ 7

(b) Give an example of renewable resource.

SRAFIRIN ST b1 =R oy |

(¢} Define welfare economics.
o i vigwr fan o

(d) What is market failure?
IR Rrerer R 9
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(2)

(e) Non-excludability is a feature of
(Fill in the g
e RO e 3 bt ey "
(019 3 o 1)

() The depletion in the °
e ‘0zo > .
caused by ne layer’ is

W T S IR R
(i) carbon dioxide
I TREHZT
(i) methane
 feem
(iii) nitrous oxide
CiEnANE e
{iv} chlorofluorocarbon
FIETIR
(Choose tile correct answer)
(R Tt AR Bforean)

(9) What is global warmingp
CMTR Taeey 57

(h) What is free rider problem?
& SR 1+pm R 9

(i) Write the full form of ERC
ERC3 3oy o5t forar )
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0)

(k)

@

m)

n)

(o)

(3)

What is meant by environmental
subsidy?

oifica iy T W e & 3o W2

Mention one cause of air pollution.

T AR BT TR TR 0

Define sustainable development.

T S ew |

What is green accounting?
s s {52

What is travel cost method to decide use
value of environmental good?

ofAza AR TR T R 0T L3 A
T~ 7 2

What is existence value?

o 7 R 2

2. Answer any five of the following questions :

fCoLE

(@)

22A/867

2x5=10

oprRE R e “Hob Ses faan -

Define resource economics.

o YA AR s o
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(b)

()

(d)

(e)

@

(h)
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(4)

Distinguish between strong
sustainability and weak sustainability.

T RTPAS WF W IR ©
ANGRE il TS 4l

Mention two economic functions of
environment.

Write two consequence
s of
warming, o global

cﬂﬁ@qh@ﬁ@mﬁmml

Mention two character;
good.

Wﬂwﬁa{hhﬁiywwl

What is meant by embedding effect?
TR 2ro Lo 5 3w g o

Mention two approach
control policies.

stics of public

€s of pollution

Write two arguments fo
T envi
regulations. Vironmental

ﬂﬁmﬁm«m@g@;m,

{ Continued )

(S)

3. Answer any four of the following questions :
5x4=20

o] oA R e viReR Te fm

(a) Write a note on the importance of
studying environmental economics.

“fRzaMa TR ST ST 8R_S 9fS G
foran 1

(b) Explain the important characteristics of
property right.

o] AR Y31 CIFBPTR 31 T4

(¢) Write a short note on ‘Tragedy of
Commons’.
oS TR CTIRRe’Y R e @b oy
Bt foran |

{(d) Explain the main principles in using
market-based instruments to

implement environmental policy.
Retm TS TmET I IWI @A
ORISR SRR T TEE 399 791 |

(e) Briefly mention different economic
instruments available for pollution

control.
R fmgR IR@ 377 R uftacs
SIRAPRZ T3 Tras 4 |
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(6)

() Explain the limitations of using
contingent valuation method for
environmental accounting,

ﬂﬁk@wswﬁmaanﬁ'masﬁraﬁwa#%mmﬁtgpnma
THSBR AARHOTRE Brag 37 |

() Write a short note on development
environment trade-off,

@ﬁ¥ﬂ°ﬁk@ﬁ’ﬁm6§ﬂﬁﬂﬁieﬁWGcﬂ%ﬁﬂcﬁﬁq
Ll ‘

(h) Discuss about the choice of suitable
policy instrument in developing
countries for control of pollution.

IR FRER A SR orR Boicn
MNSorS ST Pt ot oo 7 1

4. Answer any four of the following questions -

' 10x4=40
O 2SR e vk g iy

(@) Explain cleaﬂy the interlinkage between
the economy and environment,

Wﬁ%'ﬂﬁ’ﬁ@“ﬁqu@gw
Rea =ots 3 31

(b) What is bio-diversity? Discuss the ways
in which bio-diversity loss may occur.

te-foa 2 ?@m—tqﬁ.:q ey 2] @R
FPRTYZ A 79 |
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c)

(d)

(e)

(9

22A/867

(7)

“Externality creates the problem of
market failure.” Discuss the statement

with suitable diagram.
‘e @M Rweel Fem R wE 1
B0 Ty otk wicEmsn 4 |

Critically explain the Coase theorem.
(FRILSGLO! FACEACARTE, 3911 F41 |

What is fnternalization of externality?
How can negative externality be
internalized?

IRFFER WEEATT F? IR IR
Rvre weEIRTI R k2

. .What are the causes responsible for

climate change? What steps have
internationally been taken to mitigate
this problem?

TR ARG FRPTR R 7 R TP SR
R TEABEA 7 & oot a7 1 iR 2

What is environmental pricing? Explain
the hedonic pricing of environmental
godd.

R W@ R RET RS
e ey 3 11

( Turn Over)



(8)

() How does tradable permit result in
mutually beneficial exchange outcome?
Explain ‘with the help of suitable
diagram.

T R W ot QomE el

e R o $1 2 Sope Bz
sa f

() What are the main obstacles of
sustainable  development?  Explain
briefly the main indicators of
sustainable development.

ITHY T oW @ARRPER B2 Iz
T el SR Rew siw
o :

() What is transboundary pollution?
Suggest some policies to combat
transboundary pollution.

SEISF 2T 7 R 27T @ 1T g
Ao IRER e o 1

-

* % %k

22A—2000/867 3 {Sem-6/CBCS) ECO HE 1



